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(BER) | #F AA
— R B
XE [&BCe) | KEBCc) | H#EUKE [ FiR =i BR
48] BEn 23.2 14.4 == BE Rk - TR
68l EBh 27.0 21.0 =RE BE SRR me
8A| Eh 28.5 25.0 == BE k-t me
10A8| Bh 28.9 20.5 =RE BE - mR
12| BEY 10.6 12.1 == B G -th me
28| EBh 12.2 12.8 RE BE fxfh - HR
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
=%|E| 6.5~85 | 75LLE | 1.0LLF | 25LLF 50LLF
EHIE(75%1E) - 9.1 0.7(0.7) 1 1200
48] 69 8.8 <0.5 2 -
6A|l 79 9.2 0.7 <1 8
8A| 16 8.0 <05 <1 -
10A] 6.9 8.4 <0.5 2 2400
12A8] 72 10 1.2 <1 -
28 7.7 10 0.7 <1 —
BEIER
N INESS & ED ANEYOL] HME ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | JE4H | 0.01LLF | 0.05LLF | 0.01ELF | 0.0005LLF
E1fE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8A - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
ooant ... | 1,2->%701,1->5an[vA-1,2-250a[1,1,1-~F)50
PCB 5 bR A E 3 nxsy | Tl NIFLo nTAs
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s E#RE [0.02LLF] 0.002LLTF | 0.004LLF [ 0.02LLF | 0.04LLF 1LTF
EH = <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.01
48 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
6 A - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8AH - - - - - - -
104 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
128 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,1,2-ky4 [FUYAARFrS900x(1,3->9A — . —sen FARAH
noTsy | TFLY | FLY  |aFaky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E (5] 0.006 L F[0.03LLF | 0.01LLF |0.002LLF [0.006 L F[ 0.003LLF 0.02LLF
SE{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| EZ(E]| 001LTF [001LLF [ 10LF 0.8LLF 1LF |
B3] <0.001_| <0.001 0.17 0.1 <0.1
48] <0001 [ <0.001 0.20 <0.1 <0.1
6A] <0.001 [ <0.001 0.08 <0.1 <0.1
8H - - - - -
108] <0.001 | <0.001 0.23 <0.1 <0.1
128] <0.001 | <0.001 0.18 0.1 <0.1
2F - - - - -
ZTDHIER
N e 2EX | &% @ | 2@ | soosus LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.24 0.013 - <0.005 - -
478 - 0.30 0.020 - - - -
6 H - 0.13 0.011 - - - -
8H - - - - <0.005 - -
10H - 0.26 0.011 - - - -
128 - 0.27 0.009 - - - -
2H - - - - - - -
By WmAHERYE | VoBH s e =S
IT/=| kS coD el > AE BERmzEE
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E - - 0.9 <0.01 - - 49
48 - - 0.9 <0.01 - - 48
6 H - - 0.8 <0.01 - - 52
8A - - 0.7 - - - 60
10H - - 1.2 - - - 37
128 - - 0.8 - - - 49
2H — - 1.0 - - - 46




RIS

&3 3
o % HEERE A4 =230
(BEER) | B2 A
— g8 B
Xz |[SBECC) | KiE(°C) | BEUKE | FiR =Xz R
48] Bh 22.0 14.7 EdS BE iR -t TR-
68l BEBh 26.5 20.5 == BE SRR me
8Bl BBh 28.0 24.5 == BE k-t me
10A| EBh 26.6 20.0 == BE k-t me
12| BEY 12.0 10.6 == BE B -t mR
28| Bh 11.8 12.0 RE BE fx 8 - mR
4FRIBIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LAF
EHIE(75%1E) - 8.8 0.7(0.7) 2 110
48] 7.0 8.5 <0.5 5 -
6A| 74 9.4 0.7 i< 2
8A 6.8 7.7 <0.5 <1 —
10A] 7.1 8.5 <0.5 1 220
12A8] 75 9.6 1.0 4 -
28 7.8 9.2 0.7 <1 —
RBEIER
NP INESD E ANEvOL| #E HiKEB  [ZxLkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2] 0.01LLF | e | 001LLF | 0.05LLF [ 0.01LLF | 0.0005LLF JERRH
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
10A]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
SoA0A e | 1,2-0908 [11-S500[P2-1,2-050(1,1,1-k)50
PCB 52 mig LR nxay | TFio nTFLe hTse
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s ERE [0.02LLF ] 0.002LLTF | 0.004LLF [ 0.02LLF | 0.04LLF 1LF
EH{E - <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.01
4K - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
68 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8A - - - - - - -
10A - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
128 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,1,2-ky4 [FUYAA TS 00z 1,3->9A — . —see FARA
aaIsy | TFLY FLY oroRy Fo5L P 2% %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF [0.006 L F[ 0.003LLF 0.02LLF
E{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10A]| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#{E] 0.01LLTF [0.01LLF] 10LTF 0.8LLF 1LTF
E3 5] <0.001 <0.001 0.16 0.2 0.6
48] <0.001 <0.001 0.19 <0.1 0.2
6A| <o.001 <0.001 0.08 0.1 0.9
8AH - - - - -
10A] <o0.001 <0.001 0.22 <0.1 0.2
12A8] <0.001 <0.001 0.15 0.3 1.0
24 = = = = =
ZTDMIER
N SR | 28 @ | 2E® | santus LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.24 0.014 - 0.012 - -
48 - 0.30 0.017 — — — —
68 - 0.17 0.010 - - - -
8A - - - - 0.012 - -
108 - 0.24 0.010 - - - -
128 - 0.25 0.017 - - - -
24 = = = = = = =
Eie mAEERTE | UERTE s o e /= 18 5
IT/=| xS coD e s, BB BRicE®R
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (4 S/cm)
EH{E - 2400 1.1 <0.01 0.01 - -
48 - 1100 1.0 <0.01 0.01 - -
68 - 3300 0.8 <0.01 <0.01 - -
8A - - 1.0 - - - -
108 - 920 1.4 - <0.01 - -
128 - 4200 1.0 - <0.01 - -
28 - — 1.3 — — — —




